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(Total 300 Marks)
I-Vocabulary (50 Marks)

A. Froma, b, ¢ and d, choose the most suitable word that best ¢ of
following sentences: (6 X 5=30 marks )

L. LEALG oz is one of the most difficult transpo
a. asthma b. tumour C. expression

B iy s sy s districts have lower levels of pollution than p

a. Bifocal b. Sudden C. Affluent
3. Dueto the roadworks on the motorway, all employees would better ............ earlier.
a. end up with b. set off ¢. knock off d. touch down

We should always take ..,..... breaks, so we don’t get too tired or lose interest.
a. frequent b. irreversible C. well-sealed d. rusty
S M brother worked as a Jan DABE: & wmecon sy in Kuwait before leaving to Canada,

y guag

a. polymer b. wearer c. instructor d. fleet
6. You won’t be able to use this software unless 11 | R it.
a. remind b. retire C. mumble d. activate
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I-Grammar ( 35 Marks)
A. Froma, b,c and d, choose the correct word that best completes each of the following
Sentences.( 5 X 5= 25 marks)
12. /14 (O in London now, I could visit British Museum.
a. am b. were C. have been d. will have
13. TwishI..... ... that it was my friend’s birthday. I"d h
a. had known b. have known
M Misreallybara
a. at b. of
5. You............. pay for these books. The
a. don’t have to b. haven’t
16. Myuncle, ...... .. name 1s Ahmed, won the best sto
a. which b. that

drove/had driven/was driving

dangerously

18. He didn't using to sleep early, but now he do.

use does

II-Language Functions ( 40 Marks)

Write what youy would say in the following Situations: (5X8=40 marks)
19. Your father believes that watching T

V for a long time is hazardous,

g disadvantages

Agreement / Disagreement / Statin

. None of your friends knows the advantages of solar power,

Giving advice
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22. A close relative invited you to his/her brother’s wedding party.
Accepting / Rejecting invitations

23. Your brother has a job interview, but he seems careless.
Expressing obligation / Giving advice

(Any reasonable answer is acceptedy TN
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IV- Set Book Questions (25 mark )W\? S
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A. In good meaningful sentences, answer ONLY THREE
3X6=18marks

global warming. Discuyss.
Pollution from vehicles, factories and power stations has contributed to
environmental problems. Drilling for oil caused pollution and the destruction of
animal habitats.

25. A manager of a company is successfy] only when he/she possesses certain qualities,
Explain.
He/she needs g0od communication skills. He/she is able to demonstrate
leadership qualities and to motivate staff to meet targets. He/she should be
honest and trustworthy and be abje to respect confidentiality.

26. What are your duties towards your parents?
Obeying them, respecting them and being grateful to them,

27. Why do some people dream of being pilots?
Visiting different Countries / Learning new customs and traditions / Meeting new

people / Making new friends / Seeing different parts of the world.
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B. Literature Time

In good meaningful Sentences, answer ONLY ONE of the following questions:
(1X7=7 marks)
28. Why is honesty of great importance in oyr life?
Honesty is of great importance in oyr life to protect the property of others and
to live in a peacefy] society,
29. The violent Struggle to get the treasure show

I (Any reasonable answer is acé Q) B | |
V-Writing ( 60 Marks)\(%, .\ :
Write on the following topic: -

that it has enabled us to perform tasks that we could not do.
Plan and write 3 report (about 12 sentences-140 words about the advantages and the
disadvantages of modern technology.

Making use of the following ideas:

* How we use technology wisely.
" The advantages of modern technology
* The negative effects of modern technology
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VI- Reading Comprehension And Summary Making (70 Marks)

Read the following passage carefully, then answer the questions below:

[=——

.But all that changed
b\ﬁi &

Miguel saw some of his classmates playing soccer arf
like someone flipped a switch,” his mother said. Migyke

Impairment disappeared, and Miguel became 3 successful an

Whether giving a shy kid a Way to open up to others, or helping homeless kids find a way

to get off the streets, soccer has become an international language that speaks louder than

card means the same thing whether you are from Taiwan, the U.S., Brazil, or Italy. Some
other reasons for the universal popularity of soccer may be the fact that its ryleg are
relatively simple compared to many other Sports, and because it can be played anywhere
from a city park to an internationa stadium. Moreover, the equipment required is very

basic.
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A) From a, b, ¢ and d, choose the correct answer: ((6X6=36 )

30. The main idea of the passage would be ........ . . .

ol

32,

33.

34,

a- how popular soccer competitions like the FIFA World Cup have become

b- how one boy’s parents used soccer to help him become popular

c- how soccer has become like an international language around the world
d- how soccer has become more popular recently in the U S,

In paragraph 4, the underlined word “equipment” means ... .

a- tools

b- traditions
C- surprises

d- sports

The underlined word “they” in paragraph 4 refers to
a- rules

b- teams

C- reasons

d- borders

According to the reading passage, the FIFA World Cupis............ ;

a- a national competition

b- made up of only small competitions

c- the least-viewed Sports event in history

d- the largest soccer competition in the world

We can infer that Miguel’s speech impairment improved because ......... ;
a- his parents were worried

b- he was in second grade

c- he didn't like soccer

d- he felt less shy around the other kids
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35. Which of the following is NOT TRUE, according to the reading passage?
a- Miguel Rodriguez went to a school in Los Angeles.
b- Soccer has helped some homeless children get off the streets.
c- Teams from 76 nations compete in each World Cup competition.

d- People around the world share common traditions when playing soccer.

B) Answer the following questions: (3 x 6=18 Marks)
36. Why did Miguel Rodriguez find it difficult to communi

Because his speech impairment made him feel shy.
37. How many people watched the final match of the 2010

About 700 million / One-ninth of the world’s entire popula'l
38. What effects did playing soccer have on Miguel?

He opened up. / His speech impairment disappeared. / He no longer became shy.

/ He became a successful and popular student. / It became easier for him to

communicate with others. / He could get along in school.

C) Summary Makmg (16 marks )

In FOUR sentences of your own, summarize paragraph " 4" in an answer to the
following question.

Why is soccer so popular all over the world?

The summary should include the following points:

Soccer is so popular because the rules are the same, no matter where you are. /
Players share common rules and traditions./ Its rules are relatively simple compared
to many other sports. / It can be played anywhere from a city park to an

international stadium. / The equipment required is very basic.
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VII- Translation ( 20 Marks )
A) With reference to paragraph (1). translate the following into good Arabic:

(12 marks)

When Miguel Rodriguez was a young boy in Los Angeles, he was very shy. He had

small speech impairment (disability) and found it difficult to communicate with others.

one day in the second grade.
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B) Translate the following into good English: (8 marks)

?Y‘a‘ oLiall oz st Ja d_):GSLBEl.‘)a..LJAM
Mohammed: We are really worried, will you come for dinner tomorrow or not?

Ahmed: I have a project deadline, but I don’t want to be late (miss it).
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